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Exercice n°3 :

-x-3( ) -x+3( )= -1 x+3( )⎡⎣ ⎤⎦ -1 x-3( )⎡⎣ ⎤⎦= -1( )2 x+3( ) x-3( )= x+3( ) x-3( )=x2 -32 =x2 -9

donc -x-3( ) -x+3( )≠-x2 -9 Faux

4-x( )2 = 4-x( ) 4-x( )= -1 x-4( )⎡⎣ ⎤⎦ -1 x-4( )⎡⎣ ⎤⎦= -1( )2 x-4( ) x-4( )= x-4( ) x-4( )= x-4( )2

donc - 4-x( )2 ≠ x-4( )2  Faux
Par contre on démontrerait de même que :

le carré de  -x-6( )2 = x+6( )2 =x2 +2*x*6 + 62 =x2 +12x + 36 Vrai;
x-4( ) x+4( )=x2 -16 = -16 + x2  Vrai ; x-5( ) x+5( )=x2 -25 ≠ 25 - x2  Faux ;

 5x( )2 =25x2≠10x2Faux ;

2 x2 +y2( )- x-y( )2 =2x2 +2y2 - x2 -2xy+y2( )=2x2 +2y2 -x2 +2xy-y2 =x2 +2xy+y2

2 x2 +y2( )- x-y( )2 =x2 +2xy+y2 = x+y( )2 Vrai;

3x-1( ) x+4( )- 3x-1( )= 3x-1( ) x+4( )-1⎡⎣ ⎤⎦= 3x-1( ) x+3[ ]
Exercice n°5 :
A = x-3( ) 2x-7( )=2x2 -13x+21
B= x-3( ) 2x-7( )- x-3( ) 2x+1( )=-8 x-3( )
C= x-2( )2 -25= x-2( )-5⎡⎣ ⎤⎦ x-2( )+5⎡⎣ ⎤⎦= x-7( ) x+3( )
D=27x2 +18x+3=3 3x+1( )2 = 3 3x+ 3( )2

E= 5-x( )2 = x-5( )2 =x2 -10x+25

F=2x2 +10x+50=2 x2 +5x+25( )
Exercice n°15 :
E = 25x=25 x-1( )+5
Exercice n°24 :
A =x+2 x-5( )+ 8 3-2x( )=-13x+14   ;   B =x-2 x-5( )- 8 3-2x( )=15x-14   ;
C =x-2 x+5( )- 8 3+2x( )=-17x-34   ;   D =x x+1( )- x+2( ) x+3( )=-4x-6   ;
Exercice n°24 :

A = u2 - 3+u( )2 = u2 - 3+u( )2 = -9-6u ;

B = x-2( )2 - x-4( )2 = x-2( )- x-4( )⎡⎣ ⎤⎦ x-2( )+ x-4( )⎡⎣ ⎤⎦  = 4 x-3( )  ;

C = 2a-1( )2 + 2+a( )2 =5a2 +5 ;
D = 3-6x( ) x-1( )=-6x2 +9x-3;
E = x+1( ) x+2( ) x+3( )=x3 +6x2 +11x+6;
Exercice n°4 :
a : -3x = 0 équivalent à x = 0

b : -4x = 7 ⇔  x = - 7
-4

⇔  x = - 7
4
⇔  x +  7

4
= 0

c : 2x-5 = 7x+2 ⇔  -2-5 = 7x-2x ⇔  -7 = 5x ⇔  x = - 7
5

d : 4
3

x= 0 ⇔   x = 0   ;  e : 4
3

x= 4
3

 ⇔   x = 1 ;

f : 3x - 9 = x - 2 4-x( )-1 ⇔  3x-9 = x-8+2x-1⇔  3x-x-2x = -8-1+9
3x - 9 = x - 2 4-x( )-1 ⇔  0x =  0

f : 9x + 9 4-x( )  = 6 6- 1
6

x⎛
⎝⎜

⎞
⎠⎟  ⇔  9x + 36-9x = 36-x ⇔  36-36 = -x

9x + 9 4-x( )  = 6 6- 1
6

x⎛
⎝⎜

⎞
⎠⎟  ⇔  x=0

Exercice n°3 :

-x-3( ) -x+3( )= -1 x+3( )⎡⎣ ⎤⎦ -1 x-3( )⎡⎣ ⎤⎦= -1( )2 x+3( ) x-3( )= x+3( ) x-3( )=x2 -32 =x2 -9

donc -x-3( ) -x+3( )≠-x2 -9 Faux

4-x( )2 = 4-x( ) 4-x( )= -1 x-4( )⎡⎣ ⎤⎦ -1 x-4( )⎡⎣ ⎤⎦= -1( )2 x-4( ) x-4( )= x-4( ) x-4( )= x-4( )2

donc - 4-x( )2 ≠ x-4( )2  Faux
Par contre on démontrerait de même que :

le carré de  -x-6( )2 = x+6( )2 =x2 +2*x*6 + 62 =x2 +12x + 36 Vrai;
x-4( ) x+4( )=x2 -16 = -16 + x2  Vrai ; x-5( ) x+5( )=x2 -25 ≠ 25 - x2  Faux ;

 5x( )2 =25x2≠10x2Faux ;

2 x2 +y2( )- x-y( )2 =2x2 +2y2 - x2 -2xy+y2( )=2x2 +2y2 -x2 +2xy-y2 =x2 +2xy+y2

2 x2 +y2( )- x-y( )2 =x2 +2xy+y2 = x+y( )2 Vrai;

3x-1( ) x+4( )- 3x-1( )= 3x-1( ) x+4( )-1⎡⎣ ⎤⎦= 3x-1( ) x+3[ ]
Exercice n°5 :
A = x-3( ) 2x-7( )=2x2 -13x+21
B= x-3( ) 2x-7( )- x-3( ) 2x+1( )=-8 x-3( )
C= x-2( )2 -25= x-2( )-5⎡⎣ ⎤⎦ x-2( )+5⎡⎣ ⎤⎦= x-7( ) x+3( )
D=27x2 +18x+3=3 3x+1( )2 = 3 3x+ 3( )2

E= 5-x( )2 = x-5( )2 =x2 -10x+25

F=2x2 +10x+50=2 x2 +5x+25( )
Exercice n°15 :
E = 25x=25 x-1( )+5
Exercice n°24 :
A =x+2 x-5( )+ 8 3-2x( )=-13x+14   ;   B =x-2 x-5( )- 8 3-2x( )=15x-14   ;
C =x-2 x+5( )- 8 3+2x( )=-17x-34   ;   D =x x+1( )- x+2( ) x+3( )=-4x-6   ;
Exercice n°24 :

A = u2 - 3+u( )2 = u2 - 3+u( )2 = -9-6u ;

B = x-2( )2 - x-4( )2 = x-2( )- x-4( )⎡⎣ ⎤⎦ x-2( )+ x-4( )⎡⎣ ⎤⎦  = 4 x-3( )  ;

C = 2a-1( )2 + 2+a( )2 =5a2 +5 ;
D = 3-6x( ) x-1( )=-6x2 +9x-3;
E = x+1( ) x+2( ) x+3( )=x3 +6x2 +11x+6;
Exercice n°4 :
a : -3x = 0 équivalent à x = 0

b : -4x = 7 ⇔  x = - 7
-4

⇔  x = - 7
4
⇔  x +  7

4
= 0

c : 2x-5 = 7x+2 ⇔  -2-5 = 7x-2x ⇔  -7 = 5x ⇔  x = - 7
5

d : 4
3

x= 0 ⇔   x = 0   ;  e : 4
3

x= 4
3

 ⇔   x = 1 ;

f : 3x - 9 = x - 2 4-x( )-1 ⇔  3x-9 = x-8+2x-1⇔  3x-x-2x = -8-1+9
3x - 9 = x - 2 4-x( )-1 ⇔  0x =  0

f : 9x + 9 4-x( )  = 6 6- 1
6

x⎛
⎝⎜

⎞
⎠⎟  ⇔  9x + 36-9x = 36-x ⇔  36-36 = -x

9x + 9 4-x( )  = 6 6- 1
6

x⎛
⎝⎜

⎞
⎠⎟  ⇔  x=0

Exercice n°10 :

5 x < 10  équivalent à  x < 2 ;  -5 x < 10  équivalent à  x < 10
-5

 

équivalent à  x < -2 ;

-5 x < -10   équivalent à  10 < 5x équivalent à  10
5

 < x 

équivalent à  2 < x ;
-5 x < 0   équivalent à  0 < 5x équivalent à  0 < x  ;

x
6

 ≥ 1
12

  équivalent à    2*x
2*6

 ≥ 1
12

équivalent à    2x
12

 ≥ 1
12

équivalent à    2x ≥ 1 équivalent à    x ≥ 1
2

2
3

x ≥ 12  équivalent à    x ≥ 12 3
2

équivalent à    x ≥ 18 ;

7x ≥ 14
5

  équivalent à    x ≥ 14
35

 ;

2( 4x - 3 ) - 3( 5 - x )  ≤  5( x - 3 ) + 7( x + 2 )    
              équivalent à   8x - 6 - 15 + 3x  ≤  5x - 15 + 7x + 14
2( 4x - 3 ) - 3( 5 - x )  ≤  5( x - 3 ) + 7( x + 2 )    
               équivalent à   -14 - 6 - 15 + 15 ≤  5x  + 7x - 8x - 3x
2( 4x - 3 ) - 3( 5 - x )  ≤  5( x - 3 ) + 7( x + 2 )    
                équivalent à    -20 ≤  x 
x - 1

3
 ≤  x - 2x + 1

5
  équivalent à  x - 1( )*5

3*5
 ≤ 15

15
x - 2x + 1( )*3

5*3
x - 1

3
 ≤  x - 2x + 1

5
  équivalent à  5 x - 1( )  ≤ 15 x  - 3 2x + 1( )

x - 1
3

 ≤  x - 2x + 1
5

  équivalent à  5x - 5 ≤ 15 x  - 6x - 3

x - 1
3

 ≤  x - 2x + 1
5

  équivalent à  3 - 5 ≤ 15 x  - 6x - 5x

x - 1
3

 ≤  x - 2x + 1
5

  équivalent à  - 2 ≤  4 x 

x - 1
3

 ≤  x - 2x + 1
5

  équivalent à  - 1
2

 ≤  x 

-4 x + 5
10

 ≤  3x
5

- 7
2

  équivalent à  -4 x + 5
10

 ≤  6x
10

- 35
10

x - 1
3

 ≤  x - 2x + 1
5

  équivalent à  -4 x + 5 ≤ 6 x  - 35

x - 1
3

 ≤  x - 2x + 1
5

  équivalent à  35 + 5 ≤ 10 x 

x - 1
3

 ≤  x - 2x + 1
5

  équivalent à  40 ≤  10 x 

x - 1
3

 ≤  x - 2x + 1
5

  équivalent à  4 ≤  x   

Exercice n°6 :
x
6

 - x
3

 = 5
3

  équivalent à    x
6

 - x*2
3*2

 = 5*2
3*2

x
6

 - x
3

 = 5
3

  équivalent à    x
6

 - 2x
6

 = 10
6

x
6

 - x
3

 = 5
3

  équivalent à    - x
6

  = 10
6

x
6

 - x
3

 = 5
3

  équivalent à    x  = -10

4
3

x - 5
4

 = x+ 1
12

  équivalent à    4*4
3*4

x - 5*3
4*3

 = 12
12

x+ 1
12

4
3

x - 5
4

 = x+ 1
12

  équivalent à    16
12

x - 15
12

 = 12
12

x+ 1
12

4
3

x - 5
4

 = x+ 1
12

  équivalent à    16x - 15 = 12x+1

4
3

x - 5
4

 = x+ 1
12

  équivalent à    16x - 12x = 15+1

4
3

x - 5
4

 = x+ 1
12

  équivalent à    4x = 16 équivalent à x=4

 -x + 4
3

 = 2x+7
9

  équivalent à -x + 4( )*3
3*3

 = 2x+7
9

 -x + 4
3

 = 2x+7
9

  équivalent à 3 -x + 4( )  = 2x+7

-x + 4
3

 = 2x+7
9

  équivalent à -3x+12 = 2x+7

-x + 4
3

 = 2x+7
9

  équivalent à -7+12 = 2x+3x

-x + 4
3

 = 2x+7
9

  équivalent à 5 = 5x équivalent à x=1

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à x-2( )*12
12

 - 1 - 5x( )*2
6*2

 ≤ 12
12

2x- 3*3
4*3

x-1( )

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à x-2( )*12
12

 - 1 - 5x( )*2
6*2

 ≤ 12
12

2x- 3*3
4*3

x-1( )

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à 12 x-2( )  -2 1 - 5x( )   ≤ 24x-9 x-1( )

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à 12x-24 -2+10x  ≤ 24x-9x+9

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à 12x-24x+9x+10x  ≤ 9+24+2

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à 7x  ≤ 35

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à x  ≤ 5
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Exercice n°6 :
x
6

 - x
3

 = 5
3

  équivalent à    x
6

 - x*2
3*2

 = 5*2
3*2

x
6

 - x
3

 = 5
3

  équivalent à    x
6

 - 2x
6

 = 10
6

x
6

 - x
3

 = 5
3

  équivalent à    - x
6

  = 10
6

x
6

 - x
3

 = 5
3

  équivalent à    x  = -10

4
3

x - 5
4

 = x+ 1
12

  équivalent à    4*4
3*4

x - 5*3
4*3

 = 12
12

x+ 1
12

4
3

x - 5
4

 = x+ 1
12

  équivalent à    16
12

x - 15
12

 = 12
12

x+ 1
12

4
3

x - 5
4

 = x+ 1
12

  équivalent à    16x - 15 = 12x+1

4
3

x - 5
4

 = x+ 1
12

  équivalent à    16x - 12x = 15+1

4
3

x - 5
4

 = x+ 1
12

  équivalent à    4x = 16 équivalent à x=4

 -x + 4
3

 = 2x+7
9

  équivalent à -x + 4( )*3
3*3

 = 2x+7
9

 -x + 4
3

 = 2x+7
9

  équivalent à 3 -x + 4( )  = 2x+7

-x + 4
3

 = 2x+7
9

  équivalent à -3x+12 = 2x+7

-x + 4
3

 = 2x+7
9

  équivalent à -7+12 = 2x+3x

-x + 4
3

 = 2x+7
9

  équivalent à 5 = 5x équivalent à x=1

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à x-2( )*12
12

 - 1 - 5x( )*2
6*2

 ≤ 12
12

2x- 3*3
4*3

x-1( )

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à x-2( )*12
12

 - 1 - 5x( )*2
6*2

 ≤ 12
12

2x- 3*3
4*3

x-1( )

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à 12 x-2( )  -2 1 - 5x( )   ≤ 24x-9 x-1( )

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à 12x-24 -2+10x  ≤ 24x-9x+9

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à 12x-24x+9x+10x  ≤ 9+24+2

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à 7x  ≤ 35

x-2 - 1 - 5x
6

 ≤ 2x- 3
4

x-1( )équivalent à x  ≤ 5

Exercice n°3 :

-x-3( ) -x+3( )= -1 x+3( )⎡⎣ ⎤⎦ -1 x-3( )⎡⎣ ⎤⎦= -1( )2 x+3( ) x-3( )= x+3( ) x-3( )=x2 -32 =x2 -9

donc -x-3( ) -x+3( )≠-x2 -9 Faux

4-x( )2 = 4-x( ) 4-x( )= -1 x-4( )⎡⎣ ⎤⎦ -1 x-4( )⎡⎣ ⎤⎦= -1( )2 x-4( ) x-4( )= x-4( ) x-4( )= x-4( )2

donc - 4-x( )2 ≠ x-4( )2  Faux
Par contre on démontrerait de même que :

le carré de  -x-6( )2 = x+6( )2 =x2 +2*x*6 + 62 =x2 +12x + 36 Vrai;
x-4( ) x+4( )=x2 -16 = -16 + x2  Vrai ; x-5( ) x+5( )=x2 -25 ≠ 25 - x2  Faux ;

 5x( )2 =25x2≠10x2Faux ;

2 x2 +y2( )- x-y( )2 =2x2 +2y2 - x2 -2xy+y2( )=2x2 +2y2 -x2 +2xy-y2 =x2 +2xy+y2

2 x2 +y2( )- x-y( )2 =x2 +2xy+y2 = x+y( )2 Vrai;

3x-1( ) x+4( )- 3x-1( )= 3x-1( ) x+4( )-1⎡⎣ ⎤⎦= 3x-1( ) x+3[ ]
Exercice n°5 :
A = x-3( ) 2x-7( )=2x2 -13x+21
B= x-3( ) 2x-7( )- x-3( ) 2x+1( )=-8 x-3( )
C= x-2( )2 -25= x-2( )-5⎡⎣ ⎤⎦ x-2( )+5⎡⎣ ⎤⎦= x-7( ) x+3( )
D=27x2 +18x+3=3 3x+1( )2 = 3 3x+ 3( )2

E= 5-x( )2 = x-5( )2 =x2 -10x+25

F=2x2 +10x+50=2 x2 +5x+25( )
Exercice n°15 :
E = 25x=25 x-1( )+5
Exercice n°24 :
A =x+2 x-5( )+ 8 3-2x( )=-13x+14   ;   B =x-2 x-5( )- 8 3-2x( )=15x-14   ;
C =x-2 x+5( )- 8 3+2x( )=-17x-34   ;   D =x x+1( )- x+2( ) x+3( )=-4x-6   ;
Exercice n°24 :

A = u2 - 3+u( )2 = u2 - 3+u( )2 = -9-6u ;

B = x-2( )2 - x-4( )2 = x-2( )- x-4( )⎡⎣ ⎤⎦ x-2( )+ x-4( )⎡⎣ ⎤⎦  = 4 x-3( )  ;

C = 2a-1( )2 + 2+a( )2 =5a2 +5 ;
D = 3-6x( ) x-1( )=-6x2 +9x-3;
E = x+1( ) x+2( ) x+3( )=x3 +6x2 +11x+6;
Exercice n°4 :
a : -3x = 0 équivalent à x = 0

b : -4x = 7 ⇔  x = - 7
-4

⇔  x = - 7
4
⇔  x +  7

4
= 0

c : 2x-5 = 7x+2 ⇔  -2-5 = 7x-2x ⇔  -7 = 5x ⇔  x = - 7
5

d : 4
3

x= 0 ⇔   x = 0   ;  e : 4
3

x= 4
3

 ⇔   x = 1 ;

f : 3x - 9 = x - 2 4-x( )-1 ⇔  3x-9 = x-8+2x-1⇔  3x-x-2x = -8-1+9
3x - 9 = x - 2 4-x( )-1 ⇔  0x =  0

f : 9x + 9 4-x( )  = 6 6- 1
6

x⎛
⎝⎜

⎞
⎠⎟  ⇔  9x + 36-9x = 36-x ⇔  36-36 = -x

9x + 9 4-x( )  = 6 6- 1
6

x⎛
⎝⎜

⎞
⎠⎟  ⇔  x=0


